scan:831600105 az,za: 2/9.3 15.7 tm:18

474

2 p

ol A

O"‘O T T T ‘ T T ‘ ‘ T T T ‘ T

medLagO: 1.174 1.01 1.14/ 1135 1.1/ 0.96 1.06

0.08 —

0.06

|

totalPwr/median

0.00 —

0.02 WWAWMWWWWMWW WWMMWWMWWWWWMWW i

0 200 400 600 800
sample in strip

yymmdd:081111 pol B
‘ T T T

0.10 T T T ‘ T ‘ T T T ‘ T
- medlLagO: 1.22 1.14 1.13][1.01 1.02 1.10 1.23

0.08 —
0.06

0.04

totalPwr/median

0.02 - ' ont! ¥

/

sample in strip



scan: 8316001

08 az,za: 28/.6

10.4 tm:19:10:39 p

ol A

0.08 —

medLagO: 1.0/ 1.

0.06 il

0.04

totalPwr/median

0.02

0.00

0.08

totalPwr/median

0.02

0.00

115 1.12 1.24

16 111 1.17

600 800

sample in strip

pol B

1000

0.04

.17 1

medLagO:

0,06 b iy

10

yymmdd: 081111
‘ T T T

7

1.09 1.19 1.17 0.99 1

600 800

sample in strip

400

1000




totalPwr/median

totalPwr/median

scan:831600111 az,za: 308

S 2.6 tm:19:33:35 pol A
T T T T T ‘ ‘ T T T ‘ T T T ‘ T T T

0.10
| medlLagO: 1.02 1.15 1.04 1.0/ 1.13 1.11 1.20 |
0.08— | —
i |
[ [ 1 A
0.06 (=
| Vg I
0.04 h"
0.02
0.00— W
* 1 *
1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1
0 200 400 600 800 1000
sample in strip
yymmdd:081111 pol B
O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T
- medlLagO: 1.15 1.0/ 1.04 1.17 1.17 1.00 1.16 s
008 |

0.06 4 "

0.04 — | "“
* wM

0.02 | il
: ]

0 200 400 600 800 1000
sample in strip




totalPwr/median

totalPwr/median

scan:851600114 az,za: 3/8.2 5.7 tm:19:57:10 pol A

O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T

L ||medLagO: 1.0 , 1.13 1.053 1.06 1.13 1.12 1.26 _
0.08 — ) _

L | 4

.
0.06 |-

i
0.04 ’
0.02 iy

Vv 1 7
0.00 p= v

1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1
0 200 400 600 800 1000
sample in strip
yymmdd:081111 pol B

O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T

- |lmedLagO: 1.1 1.0/ 1.04 1.19 1.1/ 0.9/ 1.14
0.08 —
0.06 - Ay

|
0.04 A’ I

‘
0.02
0.00 - -
1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1

200

400

600

sample in strip



